
1$7,21$/�2 )) ,&(
� �WK�6WUHHW
6XLWH
$UOLQJWRQ�9$
3KRQH
)D[

: ( 67�&2$67�2 )) ,&( �
�W�$YHQXH�6XLWH
6HDWWOH�: $
3KRQH

0 $ , 1 �0 (1 8 5$(�+,* +/, *+76

6XP P HU�1HZ VOHWWHU
/LJKW+DZN�&HOHEUDWHV�<HDUV� 5$(� 3DUWQHU�3URILOH�. %5� $PHULFDQ�/LWWRUDO�6RFLHW\�2\VWHUV�3URMHFW�

7H[DV�&RDVWDO�/HDGHUVKLS�%UHDNIDVW� /HJLVODWLYH�8SGDWH� 5$(� 2UJDQL]DWLRQV�5HFHLYH�)HGHUDO�6WLP XOXV�)XQGV�

3UHVLGHQW
V�/HWWHU

6XP P HU�LV�DOZD\V�DQ�H[WUDRUGLQDU\�WLP H�RI�\HDU�IRU�WKH�KDELWDW�UHVWRUDWLRQ�FRP P XQLW\ ��U�P HP EHU�JURXSV�
DORQJ VLGH�GR]HQV�RI�SDUWQHU�RUJDQL]DWLRQV�DQG�WKRXVDQGV�RI�FRP P XQLW\ �YROXQWHHUV�DUH �HLWKH�KDUG�DW�ZRUN�RQ
UHVWRUDWLRQ�SURMHFWV�RU�SUHSDULQJ�IRU�WKH�EXV\�VHDVRQ�DKHDG�

1RW�WR�EH�OHIW�RXW�WKH�5HVWRUH�$P HULFD
V�( VWXDULHV
VWDII�UHFHQWO\ �VSHQW�D�GD\ � YROX QWHHULQJ�D�&KHVDSHDNH�%D\
)RXQGDWLRQ�R\VWHU�UHVWRUDWLRQ�SURMHFW�: H�MRLQHG�KDOI�D�GR]HQ�ORFDOV�DQG�D�JURXS�RI� 8QLYHUVLW\ �RI�0 DU\ODQG�VWXGHQWV

ZKR�ZHUH�WDNLQJ � WLP H�WR�YROXQWHHU�IRU�WKH�%D\�

2XU�WDVN�ZDV�WR�KHOS�FRQVWUXFW�WR�OE�FRQFUHWH�UHHI�EDOOV�WKDW�DIWHU�FXU LQJ�IRU�VHYHUDO�P RQWKV�DUH�JRLQJ
WR�EH�SODFHG�LQ�R\VWHU�UHDULQJ�WDQNV�VR�WKDW�\RXQJ�R\VWHU�VSDW�FDQ�VHWWOH�DQG�DWWDFK �R�WKHLU�VXUIDFHV�)URP � WKHUH

WKH�UHHI�EDOOV�ZLOO�EH�SODFHG�LQ�WKH�%D\�DV�DQ�DUWLILFLDO�R\VWHU�UHHI�DWWUDFWLQJ�DQ G�KDUERULQJ�R\VWHUV�IRU�\HDUV�WR
FRPH�

7LUHG�DQG�GLUW\ � Z H�DOO�ZDONHG�DZD\�DW�WKH�HQG�RI�WKH�GD\�ZLWK�D�UHDO�VHQVH�RI�VDWLV IDFWLRQ�LQ�Z KDW�ZH�KDG

DFFRP SOLVKHG�HYHQ�WKRXJK�ZH�NQHZ�LW�ZRXOG�VWLOO�EH�P RQWKV�EHIRUH�WKH�UHHI�EDOOV�Z RX OG�EH�SODFHG�LQ�WKH�%D\�

)RU�WKRVH�RI�XV�DW�5HVWRUH�$P HULFD
V�( VWXDULHV�LW�Z DV�D�VSHFLDO�GD\�,W�QRW�RQO\�UH P LQGHG�XV�RI�KRZ�FULWLFDOO\
LPSRUWDQW�FRDVWDO�KDELWDW�UHVWRUDWLRQ�LV�LW�DOVR�OHIW�HDFK�RI�IHHOLQJ�P RUH�FRQQHFWH G�WR�WKH�&KHVDSHDNH�

7DNH�WLP H�WKLV�VXP P HU�WR�KHOS�DQ�HVWXDU\�,�KLJKO\�UHFRP P HQG�LW�
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V�( VWXDULHV KWWS�Z ZZ � HVWXDULHV�RUJ�"LG 
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